EARAZROREIERT — 2 N—XBISY —F 20155108208 (X)) 14[E1F9511H

JIRONZXCVU—Z4R] C1 45%—#% EEE R
[A&4£] 1% :350,000” ~ 23#%&:70,000 "  33%&:53,000”  43%&:3500MH ~ 57#&:17,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i # o3 | ATEEH 1:43.7 2-2-1-1 [ 41.1| — 1 508 | BEFRALE (dtiEdE)
1111|7171 -2X 56.0 (-) -12) (&) *v0y k770
LT HANAN B:Fa— (B) HA-FL—-ya>aEI7
N . B4 | FLEEBK 1:44.5 7-7-5-5 | 41.1| — 5 508 | BIIEHE (tiEE)
2155 HIAFY 54.0 (4) (44) |TEAF
LZLRAL Y E—T B:AUHI pailz:be )
o . . 4 4 | AIIE 1:44.9 1-1-1-1 | 42.3| — 2 444 | BEER (dtiEE)
317|g | NTFRRAER 54.0 @ (+4) | BT .
Z:ANXZATNG B RKU—-LIEH [ a=bae]
=: S B o6 | B 1:45.2 5-6-4-3 |42.0| — 3 474 | 2IWFRI (LimE)
4|8|10| 7IVXAEYY 54.0 (1 1/2) o) | EBEE .
R:T7HIHTFIY BiA-T Ty T HET7— L
s I — 4 5 | FETE 1:45.2 9-0-8-7 |40.8| — 7 438 | 187K (AtiEE)
51717 N7>>773Y 56.0 (7€) © () J PN
LY LIAN=F B:IFKRL—-Y3> BF K%
N # o5 | BT 1:45.7 5-4-6-6 | 42.1| — 4 500 | Kl (IbimiE)
IZ7)beAhl) 56.0 2 1/2) 42 | A 7;;::/315
L:d—IRAaqfO— B:RF—71)—-X> EHAS
YIS NRYTIL # o6 | BAma 1< 7451:> 3-3-3-4 |42.9| — | 6 | 474 gﬁjlﬂéimi‘é)
LiEAEL Y b BV S5V EL 02| grnanis
HLERE : -5-7- — AR (dtimE)
T+—=IWZXT)—=7 G 1(';/%0 AR ’ g‘) &) ‘Fiﬂmgg
VLR YIYRIR BiF1F—TLAY paiutie]
o N /INHRESE 146, 88— X — ILhEgA (dmm)
ANFEHF o> it 5 o 1(426)4 8-8-8-9 | 42.0 9 :1;2) i jpmgﬁ
LZNAF 21— BEHLRT /NI WE e
S BEEF 7 - - - -] = HHhE= (i)
NV YR R (50 el T
R:FLNnvy Tt BEHACR =i f—
® 1—F—@EBIERL
12—+— |8,1,6,3,(2,10),5,4,7
2a=5F= 8,1,6,2,3,10,5,4,7
== (1,8),6,10,5,2,3,(4,7)
43—+ — (1,8),10,6,5,2,(3,7) ,4
[ N5
B 1 1204 714K 1-5 140H e E 1-5 570M JEE 1-5-8 530
B B 1 1004 1-8 150H B = 55 450 JEE 1-5-8 1,510
5 120 5-8 480M B H 1-5 500
8 110

ABICOVWTRDTEEERROODE. TR LIV,




